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Second Semester B.E/B.Tech. Degree Supple’mentary Examination,
June/July 2024
Introduction to Electronics and Communication

Time: 3 hrs. n Max. Marks:100

Note: 1. Answer any FIVE full questlons, Qhoosmg ONE full questlorl%om each module.
2. M : Marks , L: Bloom’s level C Course outcomes.

c. | Write the stcp -by-step procedure to design a combinational circuit. 6 | L1

,Mo@%le— M|L| C
1 | a. | What is a regulated power stipply? Draw the block dlagrarri of DC power | 8 | L2 | CO1
supply and explaln the individual blocks with principal components.
b. f.voltage doublers and thef“‘”"”’oﬁung principle. 6 | L2 | CO1
C negatlve feedback m amphﬁer circuits. With | 6 | L2 | COl1
OR
2 | a. | With a neat circuit diagram and waveform explain the working of a full wave | 8 | L2 | CO1
bridge rectifier.
. | What is an- amphﬁer‘? Explain its types._ 5 | L2 |CO1
c. | What is voltage regulator? Draw the circuit diagram of voltage regulator and | 7 | L2 | CO1
explain the operation. g
_mModule - 2 X s
3 | a. | Draw the circuit dlagram and input and ouﬁput waveform of the followmg 9 | L2 |CO2
‘ operational amplifier circuits. s T4
i) Differentiator . .
ii) Integrator ~ .
iii) Voltage follower. . ¢
. | Write a note on ideal characteristics of an op-amp. sy 6 | L2 | CO2
c. | What is esmllatoﬂ Mention the. condmon of osc1llat0rs 5 | L1]CO2
i 7 "OR
4 | a. | With circuit diagram, ex%the operation of a. Wien bridge oscillator. 8 | L2 | CO2
b. Ex lam the single state aStibie oscillator with circuit diagram. 8§ | L1 |CO2
c. | Define the followmg operatlonal amplifiers parameters and write their typical | 4 | L1 | CO2
values : g
i) Slewrate
ii) Input off§et voltage
__Module -3
5 | a. | Implement full adder usmg ng-two half address and one or gate. Reduce the | 8 | L3 | CO3
equations for sum and carry.
b. | Convent the following :* 6 | L2 | CO3
i) (110. 1101)2— Do
i) (847.951)10 £
111) (CAD BF)](, = (7)10
CO3
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6 State and prove De Morgan’s theorem with its truth table for 2 variables. L1 | CO3
i) Subtract using (r — 1)’s complement method : L3 | CO3
a) 445610—— 34234(10)
ii) Subtract using r’s complement method
a)10101002) — 1000100 2).
Using basic Boolean theorems, prove, L3 | CO3
DE+yE+z)=x+yz ;
ii) Xy +xz+yz=Xz+Yyz.
7 What is an embedded system? %lﬁ'erentlate between embeﬁded system and L2 | CO4
general purpose computing sy*st% e
L2 | CO4
Write a note on clas’ég?&iécation of embedded sysxgm%@. L1 | CO4
8 List the companson between mlcroproce§§or and microcontroller. L1 | CO4
Write short rotes on 7 — segment LE‘D dlsplay L2 | CO4
Write a note on transducers. Explam one type of sensowand actuator with its L2 | CO4
operation.
‘ Module -5 {
9 List out the advantages ‘of digital communicaﬁon over analog cﬁmmumcatlon L1 | CO5S
"‘W@%av o ,@»M
Brief about moéeﬁﬁ communication sy‘;?éﬁl with its block dmgram L2 | COS
V. W‘”
Explain w1th a neat diagram, the . eoncept of radig-waye propagation and its L2 | COS
dlfferem @’pes N
10 @eﬁnnbe the class!,@gatlon of RF (&Mw Frequency) spectrum with L2 | CO5
,j,wa’?phcatlons in commumcatlon systems L
w “%p b "
Describe abou rat”“o sxgnal transmlssw‘ﬁ%and multiple access techniques. L2 | COS
m m @QM
Explain the foflbwmg with the help of waveforms : L2 | COS
1) ASK
i) FSK
iii) BPSK.
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